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Your account of the incident would be totally incredible if we hadn’t witnessed it ourselves.

A) We cannot believe your story of what had happened.
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B) You are not telling the truth.

C) We would not believe you if we didn’t know you well.

D) We believed what you said about the incident was true.

BEEMBEMA PR T, EE N EE . D8 account . incredible 1 witness ; Q H EIE T H &
PUES WY, R PHBT story X account, B4, A A BHIER R T HIZH
—HATHEEENRGR . SRR A AN D, X

Heredity as well as environment influences students’ academic success.

A) Where students live has more influence on them than who their parents are.

B) Students’ parentage is more important than the situation they are put in.

C) Surroundings in which students grow up and the qualities passed on to them affect how well
they do in school.

D) Community expectations often motivate students to make better grades.

AR IRIE ARG R E A S S IR L T where students live, the situa-
tions students are put in FAILE environment; F qualities passed on to them HFe L2 heredity, Envi-
ronment Fl heredity [FFEE & A0 g A —J7 . B, sEBUE RN Co

93] T FAF i BB R AR T BT

1. A majority of American women who work do so because of real economic need, not because
they want more spending money for luxury.

A) Although it is generally believed that most American women work for extra money in order to
enjoy luxuries, the majority work out of financial need.

B) Many American women neglect their homes and work to earn more money to buy themselves
expensive things.

C) Most wages earned by women are spent on daily necessities, whereas wages earned by their
husbands are spend on larger monthly bills.

D) American women are not expected to spend money on luxuries.

2. Who can protest and does not is an accomplice in the crime.

A) If you do not protest about some wrongful act, you are more guilty than the actor.

B) Protesting about a crime is considered an effective way to stop crimes.

C) Indifference to or silence about a crime is the same as helping the criminal.

D) Non-violent resistance is a better solution to the problem of crimes.

3. It would be difficult to overpraise his newly published book.

A) His new book is too difficult and does not deserve any favorable opinion.

B) His new book is well-written and deserves much praise.

C) It is difficult to say anything good about his new book.

D) It would be wrong to praise his new book too much.

4. He wanted his teachers to think he was above average, as he could have been if he had used his

talent to advantage.

A) His teacher thought that he was below average and he didn’t use his ability to advanrage.
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B) He was not above average; nevertheless he wishes that his teachers thought he was only if
he had made good use of his ability, he could have done better than most of his classmates.

C) Try as he might, he could not have been better than the ordinary students, and he tried to
convince his teachers of this fact.

D) He wanted to persuade his teachers into thinking that he was not a mediocre (P2 stu-
dent, because he was talented in many ways.

5. Although his conduct is considerably better, it still leaves much to be desired.

A) His conduct has not yet improved.

B) His conduct has improved but should improve still further.

C) His behavior used to be better than it is now.

D) His conduct will be better than it is now.

ZREK

1.A 2.C 3.D 4.B 5.B
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1. ¥5#

A RS H S 7E % 8% AR X 30 B Y B (ropic) (AR A (ditle) 0 B A (main idea) ) B f £2
BB R4 FEEEMREG B R A ® R E T

1)What is the main idea of the passage?

2)YWhat is the author’s purpose in writing the passage?

3)What is the passage mainly about?

4)Which of the following statements best expresses the main idea of the passage?

5)Which of the following can be the best title of the passage?

6)Which of the following best summarizes the author’s opinion?

2. ﬁaﬁu HAEE

—ARPHBHREEEREFVINEKER )'Cﬁf’ﬁ%f“‘ﬁ?%%ﬁ HOXE—HYBEIL

*ﬂf@iﬁﬂ MRABEEATRITE P RETE, BEFBELIOMFIEE - EXBANAT,
W AR E AR SR AR LR A AT

1)What is the author’s opinion?

2)What is the author’s attitude toward -7

3)What does the author think of “++"?

4)Which of the following can best describe the tone / the style of the passage?

5} Which of the following is the author’s view on ***?

6) Which of the following is the author’s advice to the reader?

AN ENARE, &% FAREEIHRIRA .

positive( 1§ %€ ), negative (% %E i), indifferent (R %0 W), approving (B ALY), disap-



4 XRHBFHEIFRIZ-FHEH

proving( N, hard to say (R MEE) , hard to determine (R }EHAE ), argue for(B ML), argue
against(JR X} ) , optimistic( & YL #), pessimistic (3£ W), cautiously optimistic (F¥ 78 18 /K M 5 &
1), neutral("PIL Y, BEA BB AR R A H), formal (TERH), informal (FFIEXH), ironic (A H
1), humorous( 4B H)) , objective( & M), subjective( EMM), compromising(Z HHEY, ) disgust-
ed (JRIEH ), critical (BB IHAY) disappointed(K B )%,

3.

a1 ek A B 1) T R A L R R AL U M R AR, B O B IR R AT BE 2 9 K B
YEMAREREY . E B R AN E A RE PR ERE KEERPEEKR
B EER S B A B R R YA TR iR H B ) U R AR A U T A .

4. HEHEB

WABES T EBaREIARLN, LT MR AR EITHERE AR R
HARELFRVEELZE VS ENEEHEN. BENERERSRRBENES . MO TF
WA FZEMER, EBRNERATE TR

i3 TR R SR A DRI

1) It can be inferred / concluded from the passage that

2) It is implied in the passage that

3) Implied but not directly stated in the passage

4) It can be inferred in the first (second, third---) paragraph that

5) It can be concluded from ---’s remarks that

6) Which of the following is TRUE according to the passage?

5. L 58 L

I FE B % 2 A R B B K b E BB AR AR IR A UM FRBE T . 2R H % LR ) 7 K

1)The word in Line *-- means

2)The word in Line -*+ can best be replaced by

3)By “+++”, the author means

4)The word “+++” stands for

5)The phrase “---” is closest in meaning to
6)The phrase “+++” probably refers to

R H a5 KB, Bl tﬁ@%‘%ﬂlﬂ ) S 17 4 2% [F) S0 A0 3 8 B 4 X Y T
7OEREENBERBES.

WK H % AR

1) The sentence “**” means / implies that

2) What does the sentence mean / indicate / suggest / show?

3) The sentence can be paraphrased as
7O | 023 T R R ik 5 R R E R Y B R’
| FESTELERLARARA L. KA FTEFEMKERFS B,AMBSHREXEEANFH
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BES1. BANMBH T EEXHBENI LA SR, ~HHENAZENEF. MEHERE K
ARESLE R A], W%E{fﬁ_,ﬁéf‘lﬁ%ﬁ?@iﬁ(restatement instead of repetition of the original sentence in
the passage) . TEME B BIRT, % 4R AT 58 48 3000 38 (skim) — 3R, RGH & F B, S BN P4 &
MR CEHFT R AGEHACHGERANR N REEMEEGE N, #7209 HHE,

B IERKNLEL,
i 15 RE A o LA e A
(DRI TEHR.

0 — BRI BN L, AR LT OB R KRR, Mk kT HE L,

(2)B R A, A LR

EEENAT A IR TS K BN S R RE ARG R it T A
( B 3% 8 % being too specific) , LA i T 457 ( Bl L ## 5 overgeneralization) o

G BHABCHER, 3T RIEZEHNTE.

(4)2F 8 ECA ¥ ER I, 317 B8 SCE A T T o

2. FBYN T RE A R T A )

(DEERPAE", B R RIE BIE™; RO RTEREENEPRER HEH
HmATHER mMTFAAFZEE XA, BAENE " BT TR, JCH R R # B X (para-
phrasing) RIBE S .

(BB RE, RN B AL, RIE 3 HAEE o

3. AT 675 B BRI 13 % 2 read between the lines, BIIEHE“IKANZ . 4007 1E & 98 17 5 )
(wording) , HE i A 36 3) M8 % 17 40 M1 45] F (tracking down relevant words, phrases and sentences) , 25
4 F 109 18 & B (literal meaning) , 3% &) T #9 W 76 & X (implied meaning), R J5 8 5€ 1E & (93
HEE,

4. FRIRCRE SCRE R I T

(DIACESTELEE A ER KT b F s aIE REMFE XN Bri— R
e & g LA, k1A L & i R4 %, A ICRARSE bR SCHRE IR L, P03 S0 S B
FEL, B A CREMIAUENERE, MAREEXEPH T L,

(2) BB SUIB S 7 2 B 7k 03— ) T B A, BRI 1% L 40 paraphrase, X — I X SR M %X
SR AEHEE, BEEEH AR FOAH AXNRBREERXBEFHNET. BXER
(Paraphrasing) B LA 2 W00 15 R /0 22, UF B T #4) (individual sentence), A e R 4T
f7 4] F 22 ] A IBE R, BV 3ty A B /) B A K P 3ot 7 B ) ] B K

BE,BEEAFE LT LA .

(DRER W ENE YGRS . YRAEFTANEHBICS BEBEREZHE L B EAE
Rt — s EFEKEEMILS. Z= 0 B S B . B YR £ 4] (topic sentence) JEHRIE RARTE
56 B (S Bia /R4, i B K R MY because, so, therefore, hence, in that, with gE¥y s 4y A 58
E(FAEEEFEBIRIE) :as a result, consequently, give rise to, result in / from, lead to, stem from,
arise from 2 ; 5371 but, yet, nevertheless, while, whereas, by / in contrast, still, although, on

the other hand, on the conurary, in fact %,
()& mAAHRE. HEBRIETEME According to the passage, which of the following state-
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ments is (not) TURE? / Which of the following was NOT mentioned in the passage? — 2 Y [o] & i
FHAM, HHHRE, FIERRE A CHEFMAE S E B, f L AURE CEH AR

()Rl A IR HER A . V%% 3ok B i 2 A8 B oR % AR 7 35 A4 2 IR 58 U RS SCE I [l A Bl
BRI 20 A, EREEREATR, CEFEE ., BARIFEELE S M WML —RAESC Fx
— 94 ST AR O A, PIRATAAS BERAT RGN, A E LA S s N B i
H W, b 4 e S T A R B B R

(4)ZHREE KRS ERE EEAE TR R, 88 R A Z K, F
OB AT FRE AR, R FEMRT, RS, RBERKER,

T TR AT R AR B A JUES SO AR BT, AT — B T R UL R BT AR AR R
fE % M P 18 B — 2 5 R AR

. KBS

Passage 1

(1)People living on part of the south coast of England face a serious problem. (2)In 1993, the
owners of a large hotel and of several houses discovered, to their horror, that their gardens had disap-
peared overnight. (3)The sea had eaten into the soft limestone cliffs on which they had been built.
(4) While experts were studying the problem, the hotel and several houses disappeared altogether,
sliding down the cliff and into the sea.

(5)Erosion(f2/) of the white cliffs along the south coast of England has always been a problem
but it has become more serious in recent years. (6) Dozens of homes have had to be abandoned as the
sea has crept farther and farther inland. (7)Experts have studied the areas most affected and have
drawn up a map for local people, forecasting the year in which their homes will be swallowed up by the
hungry sea.

(8)Angry owners have called on the Government to erect sea defenses to protect their homes. (9)
Government surveyors have pointed out that in most cases, this is impossible. (10) New sea walls
would cost hundreds of millions of pounds and would merely make the waves and currents go further a-
long the coast, shifting the problem from one area to another. (11) The danger is likely to continue,
they say, until the waves reach an inland area of hard rock which will not be eaten as limestone is.
(12) Meanwhile, if you want to buy a cheap house with an uncertain future, apply to a house agent in
one of the threatened areas on the south coast of England. (13) You can get a house for a knockdown
price but it may turn out to be a knockdown home.

1. What is the cause of the problem that people living in part of the south coast of England face?
A) The rising of the sea level.
B) The experts’ lack of knowledge.
C) The washing — away of limestone cliffs.
D) The disappearance of hotels, houses and gardens.

2 The erosion of the white cliffs in the south England
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A) will soon become a problem for people living in central England
B) has now become a threat to the local residents
C) can be stopped if measures are taken
D) is quickly‘ changing the map of England
3. The experts’ study on the problem of erosion can
A) warn people whose homes are in danger
B) provide an effective way to slow it down
C) help to its eventual solution
D) lead to its eventual solution
4. It is not feasible to build sea defenses to protect erosion because
A) house agents along the coast do not support the idea
B) It is too costly and will endanger neighboring areas
C) the government is too slow in taking action
D) they will be easily knocked down by waves and currents

5. According to the author, when buying a house along the south coast of England, people should

A) take the quality of the house into consideration
B) guard against being cheated by the house agent
C) examine the house carefully before making a decision
D) be aware of the potential danger involved
Answer to Passagel:1.C 2.B 3.A 4.8 5.D
YEAE AEEERBRE KRS RETIEREERRFRER—EALEHY, S
RIETF B REUE M, BBUF AN SR Y EROB KA AL MEEELHMBX. =
s R R EEX A BB AR A T AR
ER—EBRT, XEFBEIFIEELERE X R R G, A5 R E X — &
MER, RERYEERMBFNERE. IFEEL, AXPENMGTFRHT 5. AEIFEMN S
B R A b R B TR SR o B 4R A
Ql.AFE, ATAHBETHERENCo ATIXFRARL, XERURARFEEZREME
EREZ MRFEGD MM RAEAEHRERXER, T HBEFRCHET—BASE A E R,
HWEE RN —NEERERF R, XHHY erosion FIEIH ) washing — away J&F] Lo
Q.Y IEIE, NS _BRNS5.6.7 OEE—T , R HH#THER.
Q3. MF T, TERBFELE 74, BT HRH The experts’ study, BATH LIFIAR AR
REM, RAXEPAHRYET, I 7 5,
Q4. FH ., BEHGTHXES, HAEWAES 9 M P this B H % sfeasible M possible f&
B . 8= BRI MUK A0 2 R B B B A K (2 ik A B, T B B R BT RT
. “IX”HHIBR R to erect sea defenses. B % SCE M UL 3T E BT 15 7K 19 3% (B sea defenses) EHRE
BOMBBKSRES SR, XEELREERA T HAMWEK, HERE—BIEF T house
agent, {H3E ¥ IEHE R B MR X to erect sea defenses FEEIL, 8 A T HiBR . M =B AT H
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HOHAFE R AR S, - RN HEE, MENKREEE, BUR SRR &, & C Bia]
HeBR . U R AR B sea defenses RO, PG D 048 o HEBR .

QS BTHEITERF. EXTRAERR—BREXHLERA TLET BRFETKESS
MAEXE b HEMER R XA FERETEENS /KR, B B AT 03 X — 9]
B, CERE—ACE13A)E-NRE X KB RTIRTE FR RS ET
WTH , SHZERYBENLNA —EN TR, ¥FETXARAIERIERERDINT . &
TR LA E R, A B.C =T BB ER A W, B3 O ATT7E 3K 55 B ) B O 5 B B TR AR
B UL IERBPAMY ERELFZHMEFAEER TS, AXLEAAFCHIFRER, FEA
P¥ RIS EER, TN TP RER.

Passage 2

(1)Sport is not only physically challenging, but it can also be mentally challenging. (2)Criticism
from coaches, parents, and other teammates, as well as pressure to win can create an cxcessive amount
of anxiety or stress for young athletes(GZ3J /1 ). (3) Stress can be physical, emotional, or psychologi-
cal and research has indicated that it can lead to burnout. (4) Burnout had been described as dropping
or quitting of an activity that was at one time enjoyable.

(5)The early years of development are critical years for learning about oneself. (6) The sport set-
ting is one where valuable experiences can take place. (7) Young athletes can, for example, learn how
to cooperate with others, make friends, and gain other social skills that will be used throughout their
lives. (8)Coaches and parents should be aware, at all times, that their feedback to youngsters can
greatly affect their children. (9) Youngsters may take their parents’ and coaches’ criticism to heart
and find a flaw (B )in themselves.

(10) Coaches and parents should also be cautions that youth sport participation does not become
work for children. (11)The outcome of the game should not be more important than the process of
learning the sport and other life lessons. (12)1In today’ s youth sport setting, young athletes may be
worrying more about who will win instead of enjoying themselves and the sport. (13)Following a game
many parents and coaches focus on the outcome and find fault with youngsters’ performances. (14)
Positive reinforcement should be provided regardless of the outcome. (15)Research indicates that posi-
tive reinforcement motivates and has a greater effect on learning than criticism. (16) Again, criticism
can create high level of stress, which can lead to burnout.

1. An effective way to prevent the burnout of young athletes is
A) to reduce their mental stress
B) to increase their sense of success
C) to make sports less competitive
D) to make sports more challenging
2. According to the passage, sport is positive for young people in that
A) it can help them learn more about society

B) it enables them to find flaws in themselves
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C) it can provide them with valuable experiences
D) it teaches them how to set realistic goals for themselves
3. Many coaches and parents are in the habit of criticizing young athletes,
A) believing that criticism is beneficial for their early development
B) without realizing criticism may destroy their self — confidence
C) in order to make them remember life’s lessons
D) so as to put more pressure on them
4. According to the passage, parents and coaches should
A) pay more attention to letting children enjoy sports
B) help children to win every game
C) train children to cope with stress
D) enable children to understand the positive aspects of sports
5. The author’s purpose in writing the passage is
A) to teach young athletes how to avoid burnout
B) to persuade young children not to worry about criticism
C) to stress the importance of positive reinforcement to children
D) 1o discuss the skill of combining criticism with encouragement

Answer to Passage 2: 1. A 2.C 3.B 4.D 5.C

WEAE:(XRE—EINSCH HE R DG 30 XEIFR T 2B 3 N FBARKHTE
B RS FEMSEMERASREEOAROCE EERKAIBTALFHNEENEREY
W, EEBRMESGERFERTESHIBRMAR LR, BOMNNES EFRAERZZLT
FEAA AT A R B IE TN DI

QL. HEHE, BT Hw &5 T the burnout of young athlete, AR 2 F AT AT LI B s e i 8L
BAKNENS B RERSE AfME =, XEH,AEFLACHE LA PSR, X EER
A% FEMERSBHLERA G BRIE S, B =44 it(3 stress) can lead to burnout, it ¥
burnout [ JE E B stress, 1R BB 8 2B 1k burnout B 7. T B.C Ml D SIE 4
BN T 58N B Y stress, WIS EFIBEAN burnout of the young athlete.

Q2. HEHE, B AEEHEIRM in that B4 becauseo BT [a]: Nt A& 3 X young athletes
HERFMRAER., XEE - BRELAMTTHEN, BHRSGHE BAEEXSETHIE DR
TEMA K, ATHABELTER,EBME 6 MNP 7 XA, CHBEBEAXERL . B7
)R R AR RE SR 6 FIHY .

Q3. MM, BB O ABRERMIR, HENLBHMBEFRANRRELINEFH
BB, ML 2, R TFAREL 2 SRAFHAR, KELUEBFLZH,

Q4. HHEY, FoBNAE HENLENYEENES ST EIAREF IR BL, AR
A E R R, WAREEY LR, FEEEEMNRARERER ALY X OB, T
REER N EZ S RN R, B 308 X HF L Positive reinforcement should be provided regard-
less of the outcome, Wi enjoying themselves and the sport H J& positive reinforcement #— &84, A

DA ERER.
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Q5. ERM., BREL M MifHuES, #KES R EEENEEEET.
Passage 3

(1) Americans are proud of their variety and individuality, yet they love and respect few things
more than a uniform, whether it is the uniform of an elevator operator or the uniform of a five — star —
general. (2) Why are uniforms so popular in the United States?

(3) Among the arguments for uniforms, one of the first is that in the eyes of most people they
look more professional than civilian( B #:#9) clothes. (4)People have become conditioned to expect
superior quality from a man who wears a uniform. (5) The television repairman who wears a uniform
tends to inspire more trust than one who appears in civilian clothes. (6) Faith in the skill of a garage
mechanic is increased by a uniform. (7) What an easier way is there for a nurse, a policeman, a bar-
ber, or a waiter to lose professional identity (&£ )than to step out of uniform?

(8) Uniforms also have many practical benefits. They save on other clothes. (9) They save on
laundry bills. They are tax — deductible( FJJBLH ). (10) They are often more comfortable and more
durable than civilian clothes.

(11)Primary among the arguments against uniforms is their lack of variety and the consequent
loss of individuality experienced by people who must wear them. (12) Though there are many types of
uniforms, the wearer of any particular type is generally stuck with it, without change, until retire-
ment. (13)When people look alike, they tend to think, speak and act similarly, on the job at least.

(14) Uniforms also give rise to some practical problems. (15) Though they are long-lasting, often
their initial expense is greater than the cost of civilian clothes. (16) Some uniforms are also expensive
to maintain, requiring professional dry cleaning rather than the home laundering possible with many
types of civilian clothes.

1. It is surprising that Americans who worship variety and individuality
A) still judge a man by his clothes
B) hold the uniform in such high regard
C) enjoy having a professional identity
D) will respect an elevator operator as much as a general in uniform
2. People are accustomed to thinking that a2 man in uniform
A) suggests quality work '
B) discards his social identity
C) appears to be more practical
D) looks superior to a person in civilian clothes
3. The chief function of a uniform is to
A) provide practical benefits to the wearer
B) make the wearer catch the public eye
C) inspire the wearer’s confidence in himself

D) provide the wearer with a professional identity
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4. According to the passage, people wearing uniforms
A) are usually helpful
B) have little or no individual freedom
C) tend to lose individuality
D) enjoy greater popularity
5. The best title for this passage would be
A) Uniforms and Society
B) The Importance of Wearing a Uniform
C) Practical Benefits of Wearing a Uniform
D) Advantages and Disadvantages of Wearing a Uniform
Answer to Passage 3:1.B 2.A 3.D 4.C 5.D

NERE XREAMMHBGEX .. XEANTEEZH M ENEREARIF 2ZER TR —#
B AR , [e) B o e T if) AR A B o

AL TR, B, REEBEEN B, BEE— B M wopic sentence, FEA HE K H X
) main idea B best title. X EFE—BRIEHFEL, FILBEATHEAKZE, EEM topic sentences
£1%% :D Among the arguments for uniforms, one of the first is that in the eyes of most people they
look more professional than civilian clothes. @ Uniforms have many practical benefits. @ Primary a-
mong the arguments against uniforms is their lack of variety and the consequent loss of individuality .
@ Uniforms also give rise to practical problems.

QL. M3, ZAMBYEEESOPREIIE, W but, yet, nevertheless, however, by con-
trast, while, X% logical markers 2% FREE WA MK, HEENE S BRBEZTAZEH A
Kb, WHHAKYE, BETRES M AR EM L, “hold sth. /sb. in high regard” BENEEY
WM A/EELE WiAHEFH P yet they love and respect few things more than a uniform
BEREI. B BIREE,

Q2 HHEY, HBRPWE | SRR AEEH%ER, FHBOALAFH R AEZ L
— RERBEL, 8 BIEA quality AEEE, BARAB"

Q3. U, T AENER R R BE BEN FESABREHBRERETRLS
4 o”B i catch the public eye BH “5IEAREFR". C HENEEFRHBRHANBEL .

Q4. T, BEESAEBWE, St H RS — 4 (topic sentence)— K 2 il AR 5 A WA S il A
SR BREVE, Bk A, B — B BRI 4 % E H R & Z Kl (popular) , (A BH K ERY
© He oA 4 AR B 32 %KM (enjoy greater popularity) o M X E R ANREHEWT B FH MO ABE A B H
A HE B

Q5. EEH, HEXEELEAMNS XNWBFERNES. EFBRASZBENERBROMLA, D
PR R B R R B B, REEE T EHRABE EE, EREREL AT

g E R, RS R A MBS WEREFEHE S BAENEIC: RIEF
SA N B RN E I EN KBRS A BEFELBAN. F4 AR
W KBMIESHRHR FEEEE TH— T R, T KBRS, A R K IE X
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B E RS e RS, HET KRB AR A SR KA ER, R A B e
EFEAABRP RS- R, MBS B O TR MRS, 7R 30E 2 2 B B
E B R



